

# Application of Vandermonde

# Determinant in Combination Mathematics

Changzhou Dong & Junqing Wang

Mathematics Department, Tianjin Polytechnic University, Tianjin 300160, China

Email:dongchangzh@sina.com

### Abstract

Given an application of Vandermonde determinant in Combination mathematics, that is, proved several important combinatorial identities by using Vander monde determinant.

Keywords: Vandermonde determinant, Application, Combinatorial identities

#### 1. Introduction

There are many methods about the proof of the combinatorial identities, such as direct checking computations, making use of exponential and generating function, permanent, number theory, differential and integration. In this paper, we proved several important combinatorial identities with Vandermonde determinant by using algebraic method, which is simple and clear than any other methods.

### 2. Lemmas

Lemma 1 Assume  $D_n$  be a Vandermonde determinant with order n composed by  $_{1,2,\dots,n}$ .  $_{M_j}$  be confactor of  $D_n$  deleting row n and column j.

Then

$$M_{j} = \prod_{m=1}^{n-2} m! C_{n-1}^{n-j}, \qquad j = 1, 2, \cdots, n$$
(1)

Proof when j = 1; equality (1) is right.

When 1 < j < n;

$$\begin{split} M_{j} &= \frac{\prod_{m=2}^{n} (m-1)}{j-1} \cdot \frac{\prod_{m=3}^{n} (m-2)}{j-2} \cdot \cdots \cdot \frac{\prod_{m=j}^{n} (m-j+1)}{j-(j-1)} \cdot \prod_{m=j+2}^{n} (m-j-1) \cdots [n-(n-1)] \\ &= \frac{(n-1)! (n-2)! \cdots (n-j+1)! (n-j-1)! \cdots 2! l!}{(j-1)!} \\ &= \prod_{m=1}^{n-2} m! \frac{(n-1)!}{(j-1)! (n-1)!} \\ &= \prod_{m=1}^{n-2} m! C_{n-1}^{n-j}. \end{split}$$

Equality (1) is right.

When j = n; it is easy to see that equality (1) is right.

Hence: equality (1) is right.

Lemma 2 Assume  $D_n$  be a Vandermond determinant with order n composed by  $_{1,2,\dots,n}$ .  $S_j$  be cofactor of  $D_n$  deleting row 1 and column j.

Then

$$S_{j} = \prod_{m=1}^{n-1} m! C_{n}^{j}, j = 1, 2, \cdots n.$$
<sup>(2)</sup>

Proof 
$$S_{j} = \frac{n!}{j} M_{j} = \frac{n!}{j} \prod_{m=1}^{n-2} m! C_{n-1}^{n-j} = \prod_{m=1}^{n-1} m! C_{n}^{j}.$$

#### 3. Theorems

Theorem 1:

$$\sum_{j=1}^{n} (-1)^{n+j} j^{n-1} C_n^j = n!.$$
(3)

Proof assume that

$$D_{n} = \begin{vmatrix} 1 & 1 & \cdots & 1 \\ 1 & 2 & \cdots & n \\ 1 & 2^{2} & \cdots & n^{2} \\ \cdots & \cdots & \cdots & \cdots \\ 1 & 2^{n-1} & \cdots & n^{n-1} \end{vmatrix} = \prod_{m=1}^{n-1} m!,$$
(4)

expand  $D_n$  along row n, from Lemma 1 we can derive :

$$D_{n} = (-1)^{n+1} \prod_{m=1}^{n-2} m! C_{n-1}^{n-1} + (-1)^{n+2} 2^{n-1} \prod_{m=1}^{n-2} m! C_{n-1}^{n-2} + \cdots + (-1)^{n+j} j^{n-1} \prod_{m=1}^{n-2} m! C_{n-1}^{n-1} + \cdots + (-1)^{2n-1} n^{n-1} \prod_{m=1}^{n-2} m! C_{n-1}^{n-1}$$
$$= \sum_{j=1}^{n} (-1)^{n+j} j^{n-1} \prod_{m=1}^{n-2} m! C_{n-1}^{n-j}$$
$$= \prod_{m=1}^{n-1} m! \quad \text{(from equality (4))},$$

Thus

$$\sum_{j=1}^{n} (-1)^{n+j} j^{n-1} C_n^j = n!.$$

$$\sum_{j=1}^{n} (-1)^{j+1} C_n^j = 1.$$
(5)

Theorem 2:

Proof Assume  $D_n$  be a Vandermond determinant with order n composed by  $_{1,2,\cdots,n}$  .expand  $D_n$  along row 1, from Lemma 1 we can derive :

$$D_n = S_1 + (-1)^{1+2} S_2 + \dots + (-1)^{1+j} S_j + \dots + (-1)^{1+n} S_n$$
  
=  $\prod_{m=1}^{n-1} m! C_n^1 + (-1)^{1+2} \prod_{m=1}^{n-1} m! C_n^2 + \dots + (-1)^{1+j} \prod_{m=1}^{n-1} m! C_n^j + \dots + (-1)^{1+n} \prod_{m=1}^{n-1} m! C_n^n$   
=  $\sum_{j=1}^n (-1)^{1+j} \prod_{m=1}^{n-1} m! C_n^j = \prod_{m=1}^{n-1} m!$  (from equality (4)),

Therefore

$$\sum_{j=1}^{n} (-1)^{j+1} C_n^j = 1^*$$

$$\sum_{j=0}^{n-1} (-1)^j C_n^j (n-j)^i = 0, \quad (1 \le i \le n).$$
(6)

Theorem 3:

Proof Assume  $D_n$  be a Vandermond determinant with order n composed by  $1, 2, \dots, n$ . The sum of the product of both the element of row 1 of  $D_n$  and the algebra cofactor of the corresponding element of row n of  $D_n$  is zero, from Lemma 1 we can derive:

$$0 = \sum_{k=1}^{n} (-1)^{n+k} M_k K^{i-1} = \sum_{k=1}^{n} (-1)^{n+k} \prod_{m=1}^{n-2} m! C_{n-1}^{n-k} K^{i-1}.$$

Let j = n - k, from equality (2) we can derive:

$$0 = \sum_{j=1}^{n-1} (-1)^{2n-j} \sum_{m=1}^{n-2} m! C_{n-1}^{j} (n-j)^{i-1}$$

Thus

$$0 = \sum_{j=0}^{n-1} (-1)^{j} C_{n-1}^{j} (n-j)^{i-1}.$$
(7)

Since

$$C_{n-1}^{j} = \frac{(n-1)!}{j!(n-1-j)!} = \frac{n!}{j!(n-j)!} \cdot \frac{n-j}{n} = \frac{n-j}{n} C_{n}^{j},$$
(8)

Substitute (8) into (7) we can derive:

$$\sum_{j=0}^{n-1} (-1)^j C_n^j (n-j)^i = 0, \qquad (1 \le i \le n).$$

## References

Brualdi, R. A. (1977). *Introductory Combinatorics*. New York: North-Holland. pp.1–50.
Ke, Zh, Wei, W. D. (1981). *Combinatorial Theory*. Beijing: Science Publishing.
Lu, K. C., Lu, K. M. (1991). *Combinatorial Mathematics*. Beijing: Tsinghua University Publishing.
Tongji University. (1993). *Advanced Mathematics*. Beijing: High Education Publishing.